with(DEtools) : with(LinearAlgebra) : A == Matrix(2,2, [[0,1],[-1,0]])
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DEplot([diff (x(1),¢) =A[1, 11-x(¢) + A[L, 2] y(2), diff (y(2), 1) =A[2, 1]1*x(1) +A[2,2]*y(1) ],
[x(2),y(t)],0..5 {[1,0,1], [0,0, 1]}, color =x"2 + y*2, arrows = THICK, stepsize = .01,
linecolor = black, title = ‘imaginary eigenvalues, color=circular’);
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DEplot([diff (x(1), 1) =A[1, 1]-x(t) + A[1,2]- y(2), diff (y(2), 1) =A[2, 1]*x(1) +A[2,2]*y(1) ],



[x(2),y(2)],0..15,{[1,0,1], [1,2, 1]}, color =x"2 + y"2, arrows = THICK, stepsize = .01,
linecolor = black, title = “imaginary eigenvalues, color=circular”);
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DEplot([diff (x(1),t) =A[1, L 1-x(2) + A[1, 2] y(2), diff (y(), 1) =A[2, 1]*x(¢) +A[2,2]*y(2) ],
[x(2),y(2)],0..15,{[1,0,1], [1,2, 1]}, color =x"2 + y"2, arrows = THICK, stepsize = .01,
linecolor = black, title = “imaginary eigenvalues, color=circular”);
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DEplot([diff (x(1), ) =A[1, 1]-x(¢) + A[1,2]- y(2), diff (y(2), 1) =A[2, 1]*x(2) +A[2,2]*y(¢) ],
[x(t),y(t)], -5..5 {[1,0,1],[-1,0,1],[0,1,1], [0,-1, 1]}, color =x"2 + y"2, arrows
=THICK, stepsize = .01, linecolor = black, title = "complex eigenvalues, color=circular”);
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B = Multiply(A, P)
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A= Multiply(P_l, B)
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DEplot([diff (x(1), 1) =A[1, 1]-x(t) + A[1,2]- y(¢), diff (y(£),8) =A[2, 1]*x(¢) +A4[2,2]*y(1) ],
[x(¢),y()], -5..5,{[1,0,1],[-1,0,1],[0,1, 1], [0,-1, 1]}, color=x"2 + y"2, arrows
=THICK, stepsize = .01, linecolor = black, title = "complex eigenvalues, color=circular’);
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DEplot([diff (x(1), 1) =A[1, 1]-x(¢) + A[1,2]- y(¢), diff (y(2), ) =A[2, 1]1*x(¢) +A[2,2]*y(2) ],
[x(t),y(t)], -5..5 {[1,0,1],[-1,0,1], [0,1,1], [0,-1, 1]}, color =x"2 + y"2, arrows
=THICK, stepsize = .01, linecolor = black, title = "complex eigenvalues, color=circular”);
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P := Matrix(2,2, [[1,0], [0,1]])
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DEplot([diff (x(1), 1) =A[1, 11-x(¢) + A[1,2]- y(1), diff (y(1), 1) =A[2, 11*x(2) +A[2,2]*y(1) ],

[x(¢),y()], -5..5,{[1,0,1],[-1,0,1],[0,1, 1], [0,-1, 1]}, color=x"2 + y"2, arrows
=THICK, stepsize = .01, linecolor = black, title = "complex eigenvalues, color=circular’);
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